Name: Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding decimals without carruing over®

1). 025 + 042 = 2). 034 + 065 =

3). 107 + 071 = 4). 016 + 253 =

5). 082 + 012 = 1. 161 + 118 =




Name: Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding decimdls with carrying over*

1). 028 + 062 = 2). 047 + 035 =

3) 119 + 1892 = 4). 045 + 097 =

5).225+ 075 = 0). 187 + 092 =




Name: Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding more than 2 decimal numbers*

1). 02F + 052 + 063 = 2). 056 + 042 + 105 =

3).245+ 012 + 173 = 4). 008 + 094 + 123 =

5). 124 + 053 + 027 + 286 =




Name:

Date:

Standard: 5.NBT.7

| can add decimdls to the hundredths place accurately.

* Adding decimals in word problems — remember to labelt™

1). Jennifer and Ashley went o
the store. Jennifer bought 1.2
pounds of apples. Ashley bought
075 pound of grapes. How
many pounds of fruit did they
buy in all?

Workspace #1.:

2). Dertick had two pieces of
wood left over after he
completed his prqject. One
piece of wood was 32 cm long.
The other piece of wood was 19
cm long. How many cm of wood
did Derrick have left over?

Workspace #2.:

3). Susie and Charlie brought in
candy for the class. Susie
brought in 2.6 pounds of candy,
while Charlie brought in 15
pounds of candy. How many
pounds of candy did they bring
in overall?

Workspace #3:




Name:

Date:

Standard: 5.NBT.7

| can add decimdls to the hundredths place accurately.

* Adding decimals in word problems — remember to labelt™

4). Kenya is easiring the sides
of a triangle in class. The first
side is 2.13 in long, the second
side is 14 in long, and the third
side is 1.56 in long. How many
total inches are the sides of the
triangle?

Workspace #4:

5). Brittany is a jeweler. Some
days she has extra gold pieces
left over. Today she has three
pieces left. One piece is 0.85
gram, the second piece is 174
grams, and the third piece is
265 grams. How much gold is
left over?

Workspace #5:

©). A chef bought 0.7 kilograms
of almonds and 0.6 kilograms of
pecans. How many kilograms of
nuts did he buy in all?

Workspace #6:




Name: __ Answer Key Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding decimals without carruing over®

1). 025 + 042 = 067 7). 034 + 065 = 099

3). 107 + 071 = 179 4). 016 + 253 = 2.69

5). 082 + 012 =094 1). 161+ 118 =279




Name: Answer Key Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding decimdls with carrying over*

1). 028 + 062 = 09 2). 047 + 035 = 082

3).119 + 182 = 301 4). 045 + 097 = 142

5). 225 + 075 = 3 6). 187 + 092 = 2.79




Name: Answer Key Date:

Standard: 5.NBT.#
| can add decimdls to the hundredths place accurately.

*Adding more than 2 decimal numbers*

1). 027 + 052 + 063 = 142 2). 056 + 042 + 105 =203

3).245 + 012 + 173 =453 4). 008 + 094 + 123 =285

5). 124 + 053 + 027 + 286 =
49




Name: Answer Key

Date:

Standard: 5.NBT.7

| can add decimdls to the hundredths place accurately.

* Adding decimals in word problems — remember to labelt™

1). Jennifer and Ashley went o
the store. Jennifer bought 12
pounds of apples. Ashley bought
075 pound of grapes. How
many pounds of fruit did they
buy in al? 195 pounds of fruit

Workspace #1.:

2). Dertick had two pieces of
wood left over after he
completed his prolect. One
piece of wood was 32 cm long.
The other piece of wood was 19
cm long. How many cm of wood
did Dertick have left over?

51 cm of wood

Workspace #2.:

3). Susie and Charlie brought in
candy for the class. Susie
brought in 2.6 pounds of candy,
while Charlie brought in 15
pounds of candy. How many
pounds of candy did they bring
in overal? 417 pounds of candy

Workspace #3:




Name: Answer Key

Date:

Standard: 5.NBT.7

| can add decimdls to the hundredths place accurately.

* Adding decimals in word problems — remember to labelt™

4). Kenya is easiring the sides
of a triange in class. The first
side is 2.13 in long, the second
side is 14 in long, and the third
side is 1.56 in long. How many
total inches are the sides of the
triangle? 5.09 inches

Workspace #4:

5). Brittany is a jeweler. Some
days she has extra gold pieces
left over. Today she has three
pieces left. One piece is 0.85
gram, the second piece is 174
grams, and the third piece is
265 grams. How much gold is
left over? 524 arams of gold

Workspace #5:

©). A chef bought 0.7 kilograms
of almonds and 0.6 kilograms of
pecans. How many kilograms of
nuts did he buy in all?

1.3 kilograms

Workspace #6:




